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MULTIPLE CHOICE

Determine which of the following points does not lie on the graph of y = x3 + 4x -
1.

(a)y (0, -1) o)y (1, 4) (c) (=1, -4)

(d) (3, 38) (e) DNone of these

Which of the following range settings was used to obtain the graph
below?

(a) (b)
Xmin = -8 Xmin = -3
Xmax = 6 Xmax = 3
Xscl = 2 Xscl =1
Ymin = -3 Ymin = -8
Ymax = 3 Ymax = 6
Yscl =1 Yscl =1

(c) (d)
Xmin = -3 Xmin = -8
Xmax = 3 Xmax = 6
Xscl =1 Xscl =1
Ymin = -8 Ymin = -3
Ymax = 6 Ymax = 3
Yscl = 2 Yscl =1

(e) None of these
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3. Match the equation with the graph.

—
(a) y =19 - x2
(o) y=|x* - 9|

—
(¢) y=1x2 -9
(d) ¥y = (9 - x?2
(e) None of these

-3

4. Match the equation with the graph.
—

=lx -3

|x - 3

(x = 3)?

= x - 3

one of these
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5. Use a graphing utility to graph y = —|X| + 6. Use the standard viewing rectangle.

(a) 18 (b) 18

-1B_J klﬂ -1a /\
> <

-1o -10

I B N

1B

18

-18 \

-18 _18

(e]l None of these



6.

Use a graphing utility to graph y = 2x3 + x2 + x -

\/

-1a

(e) None of these

Determine the slope of the line shown below.

NI

-4

7

(b)

(e)

-3

Determine the slope of the line that passes through the points
(=2, -2).

and

(a)

(d)

-5

3

5
1

(e)

-10

2

3

None of these

None of these

(c)

1.

Find an equation of the line that passes through the point (4,

and has a slope of —.

1
y=—x -1
2
1
y ="—x -3

(e)

None of these
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10.

11.

12.

13.

14.

15.

16.

Describe the graph of 6x - y = 12.

(a) Rises from left to right (b) Falls from left to right
(c) Horizontal (d) Vertical
(e) None of these

What is the slope of the line perpendicular to the line y = 7?2

1
(a) 0 (b) Undefined (c) —

(d) - (e) None of these

Which of the following does not represent y as a function of x?

(a) x2 + 32 = 16 (b) x2 - 10y =1 (c) x+ y=4
(dy y + 7x =4 (e) 8y - 4x2 =3

Given f(x) = 9x? + 1, find £(2).

(a) 19 (b)y 37 (c) 12

(d) 18 (e) None of these

Find the domain of the function { (1, 1), (2, 4), (3, 9)}.

(a)y [1, 9] by {1, 2, 3, 4, 9% (cy {1, 4, 9
(dy {1, 2, 3} (e) DNone of these
1
Find the domain of the function f(x) = .
x2 - 3x + 2
(a—) (_°°r _2)1 (_21 1)/ (lr °°) (b) (_°°r 1)/ (lr 2)/ (2 °°)
1 1
(c) (=o0, ) (d) e, Ty Ty >
2 2
(e) None of these
Which of the functions fits the data?
x| -4 | -2]0]|2]4]|c%s
v| 8| 4]0 4| 8] 12
(a) f(x) = 2|x] (b) f(x) = 2x2 (¢) f(x) = 2x

Q
~

=
I

od x (e) None of these

PAGE 4



PAGE 5

17. Find the domain of the function shown below.
(&)  (=ee, o) (b) (=, 3] (c) (3, =)
(d) [ 3, ) (e) ©None of these

-3

18. Find the range of the function shown below.

(a)y (=3, 3) (b)  (=ee, o) (c) [ -2, e)
(d) (-3, 5) (e) None of these
3
_3\\\\\\\\\/////////’5
-3
19. Use the graph shown below to find 7£(0).
(a) 3 (b) -3 (c) -3 and 3
(d) 0 (e) None of these

-2

20. Use the vertical line test to determine which of the following represents y as a

function of x.

Eh N,

-2 -1

(d) Both a and ©

(e) Both a and b




PAGE 6

21. [2x + 1, =x<1
Use a graphing utility to graph: f(x) = |{
[ x2, x> 1
(a) 8 (b} 8 /
-5 §>y4/y 5 -5 \\\ 5
-4 -4
(c) 8 d) B
-5 //’,//,/// 5 -5 \\\\\ 5
-4 -4
22. Use a graphing utility to graph the function f(x) =[[x + 2]].
(a1 4 (b) 4
-4 f——] 4 -4 — 4
-4 — _4
() 4 (d1 4
-8 i p— -4 += 4
-4 -4

(e] None of these

23. Determine which

(a) ] (b) 5
-2 \“h‘-_-——-‘-B
-B B
-2 -5

(d) A1l of these
(e) None of these
-4 //, 4

-4

24 . Describe the transformation of the graph of f(x) = x? for the graph of g(x) = (x +
9)2.
(a) Vertical shift 9 units up

Vertical shift 9 units down

Horizontal shift 9 units to the right

Horizontal shift 9 units to the left

b
c
d
e None of these
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25. The graph below is a transformation of the graph of f(x) = |x|. Find an equation
for the function.
() g(x) = |x+ 4‘ (0)  g(x) = [x] + 4 (¢) g(x) = [x] - 4
(d) og(x) = |x - 4 (e) None of these

-2

26. Which sequence of transformations will yield the graph of
g(x) = (x + 1)2 + 10 from the graph of f(x) = x2?
(a) Horizontal shift 10 units to the right
Vertical shift 1 unit up
(b) Horizontal shift 1 unit to the left
Vertical shift 10 units up
(<) Horizontal shift 1 unit to the right
Vertical shift 10 units up
(d) Horizontal shift 10 units to the left
Vertical shift 1 unit up

27. Given f(x) = 2x - 4 and g(
(a) 5x - 3 (b
(dy O (e

x) =1 + 3x, find (£ + 9) (x).

) x - 3 (¢) -(x + 3)
)  None of these

28. Given f(x)

x2 and g(x) x + 5, find (g © 7) (x).

(a) (x + 5)2 (b) x2 + 5 (c¢) x2 + 25
(d) x2 + 5x2 (e) None of these
29. Which of the following is the inverse of f(x) =5 - x?
1
(a) f£f~1(x) = x + 5 (by rf1(x) = x-5 (c¢) r1(x) =
5 - x

(d) rf1(x) =5 - x (e) None of these



30. In which graph does y not represent a one-to-one function of x?

(al 7 ib) i}
-5 4 -1 7
-2 -2
(o) i} (d1All of these are one-to-one functions of x.
(e)None of these are one-to-one functions of x.
-4 / 2

31. Given f(x) = 3x, identify the graph of 71 (x).

tar 5 )
-5 \\\H"“‘ 5 -4
I
(o) N (n
-4 s -5
4
(e) Nome f these
OPEN-ENDED
32.
Given f(x) = {x2 + 2,

find £(-4).

(c) by Houghton Mifflin Company. All rights reserved.
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